LR F B eg g A FIMER P £ (10T R »FHFA§*)
& =
A AL S e e [ LS S e v e B SRS S 0 1 B LS S e
pcgk A (D(2) 3|3+ (=) 00 it (1) 3 ey 2
farmsO®@ [3[3iaeg@@ [3[3] [nwsg 3 ok Lk A 1
jurngnO@] 1] 1 [+ 3 R % 1
#2(1)(2) 0] 0 [#hfl 3 FRE L F % 1
L T 0|0|3xx 3 p gl 3
g 2ERY IEEE: 3 Ly (D 1
TAREME@ |22 [#FQ0) 3 BB 1
BT HIEEEE L| |i#t14eds 1
A2t 3 |BeF 3
#48 3 [#EHFEA) 3
1 iy Trad e At | 3 b 3
i " 1 1 LB 3 p#drdl (2) 3 BB A5 3
2 e 3 BHEx (2) 3 wEHE A 3
3+ ERE e A 3
25 4 A& 3
1
i B A+ RS e | 3 KA1 A% 3
@ BRY 3 ¥ RHE AR 3
% 7 HEMS 3 pagil 3
3 5 oF MR 3 R AR 4
g W FL(2) 3
|
¥ AumrEanr |3 4 2(2) 3 b A 3
|, %v ,Eé;ﬁiz}jj—\é} 17 3 N s 3 o 3
g 1 AR g (3) 3 LREBRE 3
% Tk 3 B & 3
o L 3 i A 1 gt 3
T LT 3
. FERS R i 3 |Hcdy 4 478§ Ax 2
M FENG LS 3 |3D7 e 1
£ AR PR e g i 2 |rERnExyeniine 3
iy TR 3 [dmm» 2 i 2
g
2
FgraestO@] 2] 2
ik £ 3
R R A4 | 3
1A% 3
w el e Wi 3
SHR e e | 3
L & Waen k| 3
1 AR E 2 ?{é’c%&% 2
S 3
iR %E:F% ] ’Ff'L S S 3
3; FE AL TRE ARG 3
3 WERE SR | 3
PR %A 3
%357 7 (3) 1
T 3
B A 478 ¥ 3
iR 3
o B AR 3

1072 E 20 (5 295 5)_1070419-1(106 % 3= 34 § 1€ :8). xls




LR F bl AR R G A EIRSFR P A (1075 & & » F8 43§ * )

w4 3

LR e R RO Ak 3

- \&%éﬁgé\ -lzggé\o

~ i

fu

o 28F e
e AR TP g
2. P REBHARL AT L EY THEMARE ) - T £ ¥ _E’_*)%‘i-,'f?l 'Flﬁ T 2 TRAHETEEERE IF %Y ER o
3. THT A o (0FA)2 THEY ) < - 2B (05 4)7 S RO
4 [/%#5?[?]]'\4 305 &~ 5 i3 F%‘/FIVFF FI"F‘L‘E’S&:‘ SR &2 E@ﬁ%ﬁgﬁ‘%?\:

ST /ER 1018 A
1 g TIE A o
2. T BHEEY 18 L AL BRERF -HRHE RN BARZ ZIFEUALER S P F
(D= BAER(FA)E98 A &
()= BAERB(BR)L6E A -
3. - AiER 1128 4 (e 'uéﬁcﬁ"f 7h) o
4. 829 "HEUE T2
(DI FBm+8m18~(F)0r 2 g5e 7 "HEARHRY T, ~ "HEAG 1893, ~ iy
AT R R 2 P AR o
(DaEsmzd A hde ife @+ TSI ReFH) Fe Ly aih i TROg Y 2
TR (D), A
5% 2R E2HE R HELVRLIF-AARZLEEBE LN - REBEL o
AT IO 'r31]@‘3:%5_;;U3;%ﬂ§ﬁp:kﬁé%&r%éél()/w\."ll (z) > PIIEB AR -
THcE A (2) ) tAB AL X - THcfE A (D)
F;ﬁzl{%‘l%ﬁ@h PAB AL - TAERE),
Tafedg (1), 23 FMm5 < - THfF »(2),
g g THE R - TEF
T1fede® (2), 28 3ms < - T1&f),
T2+8 ) tAgeirz T8,

[ KT N N

=
’
PR A A A~§3:

I

107240 £ (7 B EF1)_1070419-1(106T % 3= %% € i ). xls 2




